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Here Seva (L) = (n(1) sends (x,....(n):</2(1.(m(xm)
generalizing four map T", s, m= 1, Mi = S", N = 13

Thm: [Moscovic - S.T]: Assume dimM=1, diN=3:



1) L is almost trivial ** ev()we(n)
where U:MaxSirs-1pm]N is unlindmap

2) In this case, Jisomorphisms of Su-modules

z(SX ThNJE LieC+,N) =C+", Tot.(N]
N

such Hat M2 (length m) as [even(K]
Moreover, Mc =0 E> ev(L)=ev(U)E>(L]=[x]
=>particular, the following three filtuations agree:

· Goodwillie- Weiss line map tower: evn(L) = ev(x),

· Whitney towers of order not on Lin NxI,
· Milnor invariant tower M(eeyth =n) =0.

They all detect nofeller [L7=94]. (27=(2')



We'll show what's going on for n=2,3, N = H:
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are did bounding L,
an order 0 Whites tower.



Key Camue: TatolFtE* is genuced by
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D(0)
Key Kenna: is (Tob(s)* is you, by

*
Tot (c)W ↓

3=0(*x1x5). ict( x1 x 1 *EFENESoWieri
B= DxDx8" AxArD

↳
Ax = Ar(til 3 as in

As D(- 1)
-[x01

Ac = A. (tc). figure:
Br 1 space of disds↳ "

FX S 3D: =P((tl): P2
-

↑to Itc) to W.-move will bounders
X -> 0 >p 2

eqce) to equator>
- 1 ⑧

1- 9x,,x,y =g-gitj =Tob(((s) = 10f)S-s'-sST
If /E Hilton-Milnor: this is 2-conceded
2123 - GxX6z3
↓

will to EE, geveled by
C12 Whitehead product [Xr0.Xzs Ic

detected by ((((p), 5(p))


